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Making Change by Subtracting

Wl LN maEks changs By s bBSacling thi
Py price Irom T amcant pasd,

Example.
Wi Bary & Buyob For $30860 You pay §5.00

vy resch £ hangey shuodildl yois gl T

P deg ety e b= B Fifed] Ol it

£5 00
e
5131

Yoo mhecaslcd genl
1,350 i chaanges

Lo subrbractomn o soben T probdermes . Sho o ok

1. Your moieer gives pos 52000 o
0 o e ITelenE. WA Speered
S15, . Howe much changoe

o o oo bt

&, Lumech cosis 52075, You pay
EL ). Hosw mauchs changes shoauld
FougetT 000

. repned Bares 3 Baenedball carcks
froam wou Thad lolal 56 45 Ha
s, yeoas @ 510D el o
mmasch chargs do WU owse hiem ™

. Vican bary o remwy vk geaTHe Bor
00k, Yo ey S0 (M), Hices
i change showuld) pou Qe

= Woel e Euir ol e St
boor S0 BT, Yoeu pary $1 00 Mo

chunrgn Shoidel o gal?

E. & man barys 3 sodas ol Shes
Laambaal. s bofal e £ 30
He purys 52000 Faowy rresch

changs shoubl ho ger?

(== Sl S




